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Talk Frame: 

 

 
 

 

Think: Joey has the number 46,098. He says 
that 4 in his number is worth 400 tens. 

Raquel says that the 4 in his number only has 
a value of 40 tens. Who is correct? How do 

you know? 
 

 

 

 

 

 

 

 

I think ____________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

because___________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

So __________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

_____________________________________________________________. 

 

 

  Idea: Idea: Idea: 

Idea: Idea: Idea: 

Additional workspace: 

Here is my mathematical thinking: 


